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Symptoms Irritability Range of motion
Stage 1 Gradual onset of pain, achy at rest and often High When range of motion (ROM) is performed when
Initial Stage sharp with movement. Night pain is common. the patient is under anesthesia there is no, or very little,
Often patients unable to sleep on affected side. range of motion deficit.
Patients describe limitation of motion or
limitation of functional activities.
Stage 2 Pain is constant and can be more severe, High Moderate range of motion limitation. When ROM is
Freezing Stage particularly at night. performed under anesthesia it is the same or almost
the same as when the patient is awake.
Stage 3 Primary complaint is stiffness. Pain occurs Moderate  Significant range of motion limitation. When ROM
Frozen Stage at end of motion. is performed under anesthesia there is no improvement
with testing.
Stage 4 Patients report minimal pain. Patients can Low Can have a gradual improvement in range of motion.
Thawing Stage have a gradual return to functional activities.
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